Q)

UITWERHIVG  TENTAMIN  CONTIVUE™ wALiduynE 2
NAL202]
Snid Qunlen: - 1 6 = (=)0

& XD XM S\MA;ﬂMml(mi (0.2 (1)
> P T 4 =t r/ /l/

1k g (1,1)
WA

[
= i3 ~oo)s R

il X n ] p’ d

X d 1z ¥
[\Q‘; = =% - ?(mz) +C :D(e-_/)ic
Ve~ o Ny

v=p
thas @l

oo— s X V5 Y{oo

«\e d& = {Jh Jg_Gh( = ((ﬁg (é@?‘ja {j
/0 &JZ,; &'JD T [/932_! bbo

finl / =




) O W
Z /4 = ’ L=
(2) a) /xq_\,ﬂ) +2[,y2;/v1/] ~LL{(XV-—I)——4 =
X ._.2)(%((4/\/{(4 o/vj{/‘/__ox}/vz._u) + U,MV —2ky¥) s
TN - ko e,
2 f
= x8 ,gyyyhgg[’ﬂw" _Lz)(?\/ +2 Ml/xz\/(:-(VYYvan/
MO CRXY Ay’
-~ U/ A\ /
) & —axT gy O dxegy
c OX b2
(‘J’ﬂhoanP nun[m« @_():O/ é)—[,JO E=>
/ . Ps 3 19 7 7
Qx ' =3 38y - ' = - o X Y X=Y

~ 4 Q
V)f . ]' w)( ntv\ ) 7~,K>o X/S(?EL/,) oW

X.so/‘ of -0
D, Y‘7 X_,vI.AoJLvi

XkD*-n \/‘O
)] ono[l //np y\unt»'h @,n) (h 1) £l /) l[é)f bo(od% o a@_

72 [ .ﬁ'/} yal 0D
(5] d‘l o/t <
<A R = S 25\/@ i L~ 4 [l

/ (07 U}/C / 7

] 4| O

AID [~ ] H o(ﬂon‘/iml;z
(002 | © N o] -6 (1 2 Q@Qm cadal
('/z L) I (»é‘ ==y I/ Ié Sé ..—L&) >(’) V'ﬂnh /mu\m

Sé P/P /}QJZX) ML e D

rrga[g// EG :) 1»84/-«6 f/x\/)zgé m a//b x/\/

ol bw/a%”b/y. 2.0 um
j / I): 6 J
SV 7

v

Pwpw[ &= (17,/)//4/,,,/) [)/"_)O(MI‘:P oL mQ Q08




&)

@ a/) ﬁ+2t>(§~l> 3)-”& LJ—ZLS -21 AL 20 oL LD o zl+:14
.”'(J» W4 8 1:) lj.L " /m Jﬁ NLL 2

|J A / S jv -~ u \/L/LUVL/

< A.
6 Seay A +1

P . / 2 . r\-—*—’"’7
b e (G2 E YT bop o |
= [

‘1) ~ N :
D) fohwl cen) s\—g il oo vom  rliops /;ﬁ)\zf'/')
Er ab‘é[,kl P ,I&‘\fj\-g‘[,/: V(S\(})2+(~g)z7 Nareer's /15 ~z0

C I - C &
b uogem %7:~(§"77’ noimMRr7 _,r\v}t._,u;. @L/%W
I‘) 1) ~
Wil
DVm /Q\F} CI’) 2o B (9 ~137) 41“,(4?;/’/@727'))
& 7 C 6 /7

& 2 J—CL[)% -"S/:-O@ (2&3)[2-4?&
t‘

e = 0:771’;"“
@! =3 of 2= ab=a
g[) Z‘?g MQI?; LOQLR: tow \fcdvh 3 I }T)
mz&ftzﬁo”.@%w 2L7T)+f‘n/ Loy Z——”’)) e, i

1\

érp "éj)w‘ 0 m %{U&g)) (/JU///*/H/




B ~ e
. . oo 9 " 2
S (T e O P ) o]
Ao I e
el g AN
) e /S

A\ n
’#f N i9
o P
U %\bm g gy PN L 2N sn
o 0 No) @a - FYN l?/]'
Al AR
' <o
& v S44n -1 LoD
Nu e e
1
oo 62 39/,,\ I
Q(A-e,g/(ﬂ/;\ Z .,.‘:Sn L@m//rmaz@[} wenl T,’?>/
o) 4 R J : o
\Uolaemd  bek ver el laig 0 Lpsa wiohle  poveroeo
r\,-.d ) n\lo/__d d J .\k
e SRV (B
‘_S: 0# = 5 - > 7 OO(I
s . ki




